SINEEEAAFEBEFEREN 1HBE BERX

F4#  EfFEEIILTER

HEF : 9H14H(A)

Xix : Bh

215 KEBEAY L Y—49 5T HHEI—X(6804yd Par72)

NI 3z I PAF REH ouT IN TOTAL
1T R FE 2 KIRZERKE 36 32 68
1T HREF ORERE 4 EE4 K 36 32 68
3T TR FH 1 KEIRFERKE 36 34 70
3T FE b0 1 KIRZERKE 35 35 70
5T hE =X 2 REHKE 37 34 71
5T EBE #Hth 1 KIRZFRBE K E 37 34 71
5T BB E 2 B ERKE 37 34 71
5T Al K8 1 KIRZRE K 35 36 71
9T NG B2 1 ik P N= 38 34 72
9T IR @AER 1 IEKZE 38 34 72
9T Ht Zt 1 KRBT K 36 36 72
9T IE A 1 B EXRE 35 37 72
9T £ HE 3 KIRZERKE 35 37 72
9T TR FFE 2 KRBT K 35 37 72
15T =H X 3 KIRZFEFRKE 40 33 73
15T BER BHR 3 KIRZERKE 38 35 73
15T Hd {7 3 EE4 K 37 36 73
15T #wKRK F& 1 pNE=al o 36 37 73
15T ;| R 2 KIRZERKE 36 37 73
20T A K& 2 KIRZRE K 42 32 74
20T FH BEHY 4 AR RE 38 36 74
20T Rl S2ER 2 RIS KE 37 37 74
20T 82E HE 1 EibicpN=a 37 37 74
20T e BR 1 EilicpN=a 37 37 74
20T hat BeasR 2 IEKZE 36 38 74
26T Hrx FE 4 IEKZE 40 35 75
26T Basn]  §ERR 4 RIS KE 40 35 75
26T PafL  EAER 2 B ERKE 40 35 75
26T Fu 1E 2 MBEHERE 38 37 75
26T LRV 3 RIS KRE 38 37 75
26T Al FE 2 IEKZE 38 37 75
26T Il hiE 2 SamfEKRE 37 38 75
26T INE X 4 B FERKFE 37 38 75
34T M FE 4 ey = 40 36 76
34T MHE &hE 3 IEKE 40 36 76
34T <H W 2 ILafEKE 39 37 76
34T A AF 4 ey = 39 37 76




34T HAT @B 4 B ZERE 38 38 76
34T [FE £ 3 KIRZERKE 38 38 76
34T 85 M3t 1 AR KE 38 38 76
34T =t BE 3 EE{KE 37 39 76
42T MR K 2 RS KE 40 37 77
427 FIIl & 4 KIREEXEKE 40 37 77
42T B OHE¥ 3 FEAKRE 40 37 77
427 £F 1 KFHIKE 39 38 77
46T AR FHKER 1 HrEKE 44 34 78
46T =H ik 3 ik P N= 44 34 78
46T fERK FE 4 IEKZE 41 37 78
46T g FiE 3 KIRZRE K 40 38 78
46T FE A 2 KIRZFEFRKE 40 38 78
46T &8H ERE 1 ITEE R 40 38 78
52T BH R 3 FAmKE 39 40 79
52T hHE EAE 1 KEIRZFERKE 39 40 79
54T hat HE 3 BELL K= 42 38 80
54T MR KIE 3 KIREEXEKE 41 39 80
54T HEE  K# 1 KIRZFRBEKE 41 39 80
54T &R —H 3 ey = 40 40 80
54T xR 1 REHKE 40 40 80
54T aAR e 2 KEIRFERKE 40 40 80
54T mE 24 3 FEEAKE 40 40 80
61T B+ S=EXER 1 ik P N= 44 37 81
61T A KB 2 KIREEXEKE 41 40 81
61T EE 2 3 IEKZE 39 42 81
64T FHh &l 1 RFHIKE 43 39 82
64T K+ #X 1 AR RE 42 40 82
64T wiE Z#5 1 B ERKE 42 40 82
64T EWR R 1 KIRZRE K 41 41 82
68 £5 KX 2 KEIRFERKE 43 41 84
69 AME =N 3 B ERKE 49 41 90
70 i EFE 3 HrEKE 47 46 93
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